Biology 12 – Biological Molecules – DNA

Matching

1.
the subunit that makes up nucleic acids - 4 types in DNA are A C G T

A
nucleotide

2.
ATP - the molecule that carries energy in the cell

B
pyrimidines

3.
molecules that store genetic information (e.g. DNA and RNA)

C
adenosine triphosphate

4.
Nitrogenous bases with 2 rings

D
nucleic acids

5.
Nitrogenous bases with 1 ring

E
purines

Short Answer

1. The two nucleic acids are ____________ and _____________, both of which are polymers of ________________.

    They each contain a nitrogenous _______________,  a 5-carbon _______________, and a_____________group.

2. DNA stands for ________________.  It is composed of 4 nucleotides, which in alphabetical order are 

    ________________, ________________, ________________, and ________________.  

   In RNA, ________________ is replaced by uracil.

3. In DNA, the 2 pyrimidines  _____________ and _______________ have a _______________ ring structure. 

    The other 2 nucleotides ______________ and ________________ have a  ______________ ring structure.

4. DNA consists of two chains of nucleotides side-by-side but upside down (known as ________________).  

    The 2 chains are wound into a twisted ladder shape called a ________________.  

    The backbone of the DNA molecule   consists of ________________ and ________________, joined together by 

    strong ________________ bonds.  

5. The  ”rungs” of the DNA ladder are composed of the nitrogenous ________________ from each strand, joined 

    together by weak ________________ bonds.  

    The base T always joins to ________________ and the base ________________ always bonds to G.  

    This is known as ________________.

6. The primary carrier of energy in living systems is a nucleotide known (full name) as _________________________.

    This is abbreviated as ________________.  This molecule consists of the 5-carbon ________________ called 

     ribose,  the base adenine, and a total of three ________________ groups.  

     The energy is stored in the high-energy ________________ between the phosphates.

